(JeE )

ZREEBA A*D?EVF‘E

A LA FE (ReFHRT X —EsF AL

7 — 54941
AL T AGEACE b 2 — M AR S AR B (M EE SEE 71 1) SE B ZRE
A KL BH B SR THETH 17T H 9404y
%] B =22 B 2E AL D RELSHED
% K 4 . o . o . 5 % &
& B i =9 HifFR PEATE i =9 HifFR PEATE Ak R HfFR PEATE
k) Wik s = = = AL
181,000,000/  0.880 29.332 | 30.212
EFESBIAFLE B ARG oI R ELBED11053 D100 S T 588 Th D, (ﬁ%%{g%) 186,470,000 M
i e 7
SR (HEBMRYSEETe. ) 199,100,000 M IR
(BB BRX) 149,690,000 H

FHAME = RS A+ B A
kg =30 X (1- CAALAAS /i Ak ) )



RE R T2 — B AR DA RRRE

(€= 4LY) 7 — 54941
ZREE4S SRTEERE AL T AE I S B 2 — i A SRR G (VB 5 ) 8 &t
A fL B B S TETH 1T H 9MF404y
S E B i
w = FEE1 | FEmEA2 | ﬂﬁ@aidlﬁﬁmaa4 | smmmAs | FFmEES @g% FHIIE B O
185 84 84 135 135 —55~04 605 1: REBOR AR EX 7= £ 57
(7R TRt Bt TR, AL A
10.666 4.000 4.666 3.000 7.000 0.000 29.332 2]
2 REB ORI AR E X -7l T —
~ BT 2%

3: ARV DRHRE B EA T3 T —

~ 2T HIRE

4: TEEBBINE OB /1o T

5: EAREH O E NS HAE OHAR

FNZ2ONT

6: DB LB ST




